—

MCHB %%

i

SEATRM (2 /M)

%
S
oH

%
N
\

¥
=
Iy
=

il
ki
i

i

5 o
2
B
&

A TR

MCHB — 16 — S

—I__|

BUgR SEIRE fFEEX
12 9 - HEE
16 S: FHEHE A
20
25
32

N3 T
&

M mindman

mindman

e
o FTTRIAEA A 25 T R A T R % P (G 012~32 -
o EUEREE - ZZRRBHRE TAE -
o 2RI -
Rk

U5 MCHB
((EIPE=N Y | BB A
SRELAIEE (mm) 12 | 16 | 20 | 25 | 32
FEREGS] M3x0.5 M5x0.8
i A 2R
i R 3 ) 0.15~0.7 MPa
il L) 0.2~0.7 MPa
JEI R T —5~+60°C ( RBRAE )
IR RS 180 c.p.m
- ST K%‘%fﬁa‘?ﬁi _

JJIV3 VN e PRI T

son. @ | 04 | o8 | 17 | 32 | 59
M BB mm | 05 | 09 | 18 | 38 | 65

(cm®)

RS 0.8 1.3 2.7 45 9.5
BANEREE L (mm) | 30 40 60 70 85
TR TAZ (mm) 6 8 12 14 16
S RDE, RDE-D: 25,

HEy 66 144 255 419 719

HE (g)
B 66.5 145 257 422 722
=t Ut 2 M
LIRS s

RDE,RDE-D

N
[T


https://www.mindman.com.tw/proimages/pdf/C_RCE.pdf
https://www.mindman.com.tw/proimages/pdf/C_MCHx_model_selection.pdf
https://www.mindman.com.tw/proimages/pdf/c_technical_data.pdf
https://www.mindman.com.tw/proimages/pdf/C_Precautions.pdf

MCHB ikt i L EE 0

i

SEATRIM (2 /M)

L fEEhal

Bisgiiay

kééé&&é

mindman

| I
:E

\éé rrsin

FEEHME fEFE, / FTHEFER

No.| 4 W i g%fg P fEE

1 N p 212 PS-MCHB-12
2 | mdetrm NBR 1 ° 016 PS-MCHB-16
3 | e gy p 220 PS-MCHB-20
2 | NBR p . 225 PS-MCHB-25
5 [diae N p 232 PS-MCHB-32
6 | i HEd 1

7 | TEIEEER NBR 1 °

8 | WhMkE ey ) 1

9 | MEEEKS RS 1

10 | & s 1

1 | R NBR 1 )

12 | k@R Gk 1

13 | i Bl &5 1

14 | &R Tl 2

15 | FERiEy Tl 2

16 | 75T s 2

17 | 1B EN 4

18 | 2 Tl #1 7R 8 2

19 | 2 Tl #2 i 2

20 | I-fJ kR SCM 4

21 | 1A iR SCM 4

22 | nHEE T 5 1

M mindman



MCHB e - sy

SEATRM (2 /M)

BRI IR
BRI RIS

AFE R ERAR AT (lE— ) B > R E s E
e R TAEYIHRTERISTUHES] < DLF R3O -

1N=0.102 kgf
1MPa=10.2 kgf/cm?

(E—)
° 9
o
7,}7(; 777777 .
o ©
EnaT)
L

SMEIFFIRRR

e

&
@)
S B S— 1=
L o ©

RIEYSHHINS

M mindman

mindman
IMRAEE I RISYISEIA)
MCHB-12 MCHB-12
P= K1 P= &)
40 ‘ | 40
| P=0.7MPa
= 30 — | = 30
< < L P=0.7MPa
R 20 —————0.5MPa R 2 — |
jré Q T 0.5MPa
10 0.3MPa 10 0 3iba
0 10 20 30 40 0 10 20 30 40
ARAFEFE L (mm) RFFEE L (mm)
MCHB-16 MCHB-16
P= )y P= &Sy
60 | 60
% =~ P=0.7MPa| %0
£ 40— Z 40 P=0.7MPa|
ﬁ 30 0.5MPa| ﬁ 30 ——
R 20 0.3MPa g 20 BT
10 10l T———0.3Pa/
0 20 40 60 0 20 40 60
FRAFEREE L (mm) KFFEE L (mm)
MCHB-20 MCHB-20
P= ] P=Ji&J]
100 ! | 100
~T—_ P=0.7MPa
80 80
z z
Z - Z - P=0.7MPa
= o — O.SMPF = o
i 40 , ¥ 40— 0.5MPa
=% T 0.3MPa =S _
20 20 0.3MPa
0 20 40 60 80 0 20 40 60 80
KFFEE L (mm) KEFEE L (mm)
MCHB-25 MCHB-25
P= )1 P= )
200 200
=150 =150
=3 =3
= \\ P=0.TMPg | = N
ﬁ 100 — | ﬁ 100 | P=0.7MPa
o ~—0.5MP3 | I3 . —
K gl ——l K 5 ———— 0.5MPa
— 0.3MP3 [ S — R
T o.:almpz
0 20 40 60 80 0 20 40 60 80
ARFFEEE L (mm) RAFFREE L (mm)
MCHB-32 MCHB-32
P=J&J; P=Ji8J]
300 300
250 250
Z 200 ™~ poo7mpd | &200
-~ ~ * -~
Ewo ] R 150 | P=0.7MPa
P ~ ™~
100 \\ 0.5MPa 1 12 100 —~ o.slmpa!
50 0.3MP3 50 — 0.3MPa
0 25 50 75 100 0 25 50 75 100
AR L (mm) FHFHEE L (mm)




MCHB g - 85y

i

SEATRIM (2 /M)

3SRl
BRI RIS

Bl B AR I N TR - AR R 5 TR BC 422
BRI LAEPHRRERIZ TS « L F 2R2OR -

1N=0.102 kgf
1MPa=10.2 kgf/cm®

BB B - SMEEF T

FRBTHBE - SME RIS

M mindman

REFRE L(mm)

MCHB-12-S
40 —
g 30
i
g 20 P=0.7MPa
U [ —
K 10
0.5MPa
0.3MPa
0 10 20 30 40
HFFEE L(mm)
MCHB-16-S
P= %
60 /1
50
Z 40
R 30 P=0.7MPa
ﬂz
R 20
T, [ 0.5MPa
0.3MPa
0 20 40 60
PeFFEE L(mm)
MCHB-20-S
P= i)
100
__ 80
z
=~ 60
Ay ~— P=0.7MPa
i a0 — |
K T 0.5MPa
20 1
0.3MPa
0 20 40 60 80
PFFEE L(mm)
MCHB-25-S
P= i
200 Z
2150
R 100
& T P=0.7MPa
——t—— 0.5MPa
0.3MPa
0 20 40 60 80
HFFEE L(mm)
MCHB-32-S
P=J&J]
300
250
Z 200
R 50—
P=0.7MP
5 T e N
100 ——_ 0.5MPa
50— ——0.3MPa
0 25 50 75 100

mindman



MCHB ﬂ%ﬂ}:\'ﬂ‘ 212~@32

g 5
ETRM(2M) mindman
2-W
5%
| | [ |
Ay I =
o ﬁ@‘
T
2-F 2.X
—tr z
1] HEE o }: @/( Pt
s 0 :
Ekm\ﬁ, — o - +
=& S
Olo 0O S )
+l
I — Q &
T HEE O i ‘@
Y Y1+0.02
L B
A D
2-P
- \
(BED) -
2x2-N
| .
| e} Q @
n
¢] ’@7 7@7 | d - : >
I [H
[ 0
R S
;
ik A B clp E F Gilg2|H|1|J|k|L|m]| N o
R
12 | 635(685) | 505(55.5) |28 | 16 | 20(25) | Max05x5i% |27 |21 | 4|18 | 17| 10| 13| 10| M3x05 | 16 (21)
16 | 73.5(785) | 58.5(63.5) |34 | 22 | 255(305) | Max07x11%E |33 | 25| 5|24 | 26| 14| 15| 14 | M3x05 | 21(26)
20 | 885(935) | 69.5(745) | 45|26 | 25(30) | M5x0.8x8%E |44 | 32| 6|30 35|16 | 19| 16 | Max0.7 | 19 (24)
25 | 1025(107.5) | 78.5(83.5) |52 | 32 | 28(33) | Mex1.0x10% |51 |37 | 8|36 |40| 20|24 |20 | msx0.8 | 22 (27)
32 | 1205(125.5) | 90.5(95.5) | 60 | 40 | 34(39) | Mex1.0x10%E |59 |43 | 10 |44 | 46 | 24 | 30 | 26 | Mex1.0 | 26 (31)
L5 P Q|R|s|T|Uu|V w X Y Y1 | v2 z
P
12 | M3x05x5% | 7| 3 | 6| 23 [102| 75| M3x0.5x5% | M3x0.5x5 % | 02H9 0 x3 % | 5 | 8.5 | @14H9 00 x1.5 ¥
16 M5x0.8x5 ZE 1 3 8| 22 [12 7.5 | M4x0.7x7 & M4x0.7x7 @3H9 *3%%° x3 23 7 (13 218H9 5% x1.5 b/
20 M5x0.8x5% | 12 | 4 10| 26 |13 8.0 [ M5x0.8x8 % M5x0.8x8 % @4H9 3% x4 P 8 | 17.5 | @22H9 392 x1.5 &
25 M5x0.8x5% |14 | 5 12| 29 |18 8.5 M6x1.0x10 ¥ M6x1.0x10 &% @4H9 3% x4 10 |20 @27H9 392 x2 P
32 M5x0.8x5 % | 20 7 15| 35 |24 10.5 | M6x1.0x10 ¥ M6x1.0x10 % @5H9 3% x5 12 |23 @34H9 592 x2 5 %

* () E R B -

M mindman




	1_規格
	2_內部構造及主要零件
	3_性能圖表–複動型
	4_性能圖表–單動型
	5_外觀尺寸 ø12~ø32

